0 SUHTR AHIRgd dfvead o

(LATE JAIPRAKASH MEMORIAL CHARITABLE TRUST)

dr - FI%&TWE‘R foret - Iralt Jolo Savaiya Mahalwar, District - Chandauli
(Registration Number -1V 45/23)

Rural Talent Search Exam (RTSE) — 2024 Conducted By LIMCT

NBME v Class : 10* quitE @ 100

(ST Roll No. ... Date : 07 April 2024 Time : 1:30 hr.

RTSE 2024 Ui&fT &1 f¥siee YouTube Channel — RTSE Exam UR 3TATT|
3rd: 3y gt udendf wfen &1 ufvomy @ & e 39 I W a1 @2




Q 1 FH0 Y BT RIE N § -

(A) PIY ®) TP '

© B (D) 371 q &5 Tal
Q 2 TR HAA ST gR IS H W PR -

(A) FUD (B) JHSH

(C) ITHT (D) SI&
Q3 HRPRIIS § -

(A) GUTEYT (B) 3d

(OxlIE) (D) 3%

Q 4TI & YR W 916 & b USREA @ ?

Q5 ‘3NINT’ Ueg H IUTI & -

(A) 317 (B) 31fH

(C)3d (D) 3
Q6 ‘BT ATmNE - .

) fa1 (B)GG

(C) PHYRT (D) Sgsie!

Q7 S AT 1 ag! 3 §

(A) FIR-IER gHAT (B) H &

(C) S BT THDHGR T (D) GMHE HAT
Q 8 fRgferad & Ria &1 wafgart T § -

(A) Rrarea (B) Bl

Q) % (D) BR
Q 9 forIP T TR T8I 3P foTT Th Tt & -

(A) o (B) 3MFIPd

(€) 3y (D) Stfds=

Q10 PHAAS LG ?
(A) fare (B) JTCT
() fesarfera (D) BT



Q 11 Fill In The Blanks With Appropriate Conjunctions
Not Only He His Father Was Also Present
(A) Is (B) But () Can (D) Also

Q 12 Select The Correct Option To Fill In The Blanks
Kashmir Is A Bone Of Contention____ India And Pakistan

(A) From (B) With (C) For (D) Between
Q 13 Amin Could Not Open The Door Because One Of The Other Students It From Inside

(A) Locked (B) Was Locking (C) Has Locked (D) Had
Locked

Q 14 Change The Following Sentence From Active To Passive
Compose This Letter
(A) Let This Letter Be Composed (B) You Are Ordered To Compose This Letter
(C) Both AAnd B (D) None Of These

Q 15 Select Options Correctly Showing The Change From Direct To Indirect
He Said To Sheela , “You Have Committed A Mistake Here.”

(A) He Told Sheela That She Committed A Mistake Here.

(B) He Told Sheela That She Had Committed A Mistake There.

(C) He Told Sheela That She Would Commit A Mistake There.

(D) None Of These

Q 16 Choose The Opposite Of Word ENOUGH
(A) Inadequate (B) Scarce
(C) Deficit (D) None Of These

Q 17 Choose The Similar Meaning Of Word CANDID
(A) Rude (B) Impertinent (C) Blunt (D) Frank

Q 18 Mark The Most Appropriate One Word Substitution-
One Who Depends On And Believes In Faith
(A) Anarchist (B) Meticulous (C) Fatalist (D) Iconoclast

Q 19 Choose The Correct Meaning Of Word Idiom
To Break the Ice
(A) To Relax A Tense Or Formal Situation (B) To End Something Abruptly
(C) To Cool Down After An Out Burst (D) To Escape From A Difficult Situation

Q 20 Select The Option That Contains Wrong Spelling
| Did Not Receive An Acknowledgement Of My Application
(A) Application (B) No Error (C) Acknowledgement (D) Receive



Q 21 {59 Be1 T, i wid [T € o a1bt gAY Y gf

IHH G S
(A) U (B) fgeeR
(C) AR (D) Tareet

Q 22 AR f&g <=1 & FaTE BT Uellh o7 2

(A) I (B) STHAY

(C) Seait (D) &g

Q 23 3R] Uae farge ar] fasan ur?

(A) SRS (B) pTT
() fere (D) fa=

Q 24 ST fqUTSH & IR WY oy Sfigia &t Loema

B ?

(A) STETNT 3figIer (B) WX i
() faTwa sfiera (D) HRd BISI e
Q 25 Ry fagis Ha gem U ?

(A) 1855 (B) 1857

(C) 1858 (D) 1887

Q 26 TGS, THEIAl by Iy garm - ?
(A) 1916 (B) 1918
(©) 1920 (D) 1922

Q 27 f&e 9 & o Tz gfeyfera et ur 2
(A fogaam (B) @3
© d= (D) Hefear

Q 28 3y st anfifes Het o1 TR TST SRR 5 S P usT ?

(A) 3ARET (B) SITUT=
© foreq (D) Wi

Q 29 3N Hifd Fauyd fFa U H g3 ?

(A) IS (B) SR
©) Wi (D) 3MAfepT

Q 30 fUiféT 09 &1 YR § Had Ugd forgdh gRT Y= foban
T ?

(A) $X SRAW ST & B (8) YR GURS
(C) garman Rt (D) 3RS MIT

Q 21 Who said that when France has to sneeze, the rest
of Europe catches cold

(A) Napoleon (B) Hitler

(C) Metternich (D) Garibaldi

Q 22 Marianne was the symbol of nationalism of which
country ?
(A) France

(B) Germany (C) Italy (D) Russia

Q 23 Who implemented the Arms Act ?
(A) Dalhousie (B) Canning
(C) Lytton (D) Ripon

Q 24 Which movement started as a result of the ?
partition of Bengal

(A) Non-cooperation movement

(B) Swadeshi movement

(C) Khilafat movement

(D) Quit India movement

Q 25 When did the Sepoy Mutiny take place ?
(A) 1855 (B) 1857
(C) 1858 (D) 1887

Q 26 In which year did Lucknow Pact take place ?
(A) 1916 (B) 1918
(C) 1920 (D) 1922

Q 27 Which country was not included in Indo China ?
(A) Vietham (B) Laos
(©) China (D) Cambodia

Q 28 Which country had the biggest impact of the
world-wide economic recession

(A) America (B) Japan (C) Britain (D) France

Q 29 In which country did the Industrial Revolution
take place first ?
(A) England

(C) France

(B) Germany
(D) America

Q 30 Printing press was first introduced in India by
(A) East India Company officials
(C) Portuguese missionaries

(B) Indian reformers
(D) Arabic traders



Q 31 Sitared 594 Fafied # 3 f5g ueR & gareql &

JETERI § ?
(A) TAIHUT (B) YaTE
(C) Sifas® (D) SFEHT

Q 32 YHSH amue SR qafarur ugyur oF Sifde uikfRufae
el & Ui T HRUI AT § ?

(A) ST BT B

(B) P& gl H Tl T T

(C) T HHTYHT BT STy T

(D) TTH ¥ IS el

Q 33 GAR X | ShTelt g & o faa aifda 8§ 2

(A) 16% (B) 20%

() 23% (D) 33%

Q 34 FAgfefad o I o1 YR & AN BT Ja8 He@yul aar
? 2

(A) HISH SHET HAT (B) ¥

() fafmfor (D) ¥amg

Q35 TH A HH WP B HIA T ?
(A) S (B) TR
(C) TNIR (D) Tt

Q 36 &d Hifa # Fgfafed 7 § feg Iae & ey 7 GUR WA S 2

(A) HUN (B) Mg
O g¥ (D) d1ad
Q 37 9t &1 {1 R S 4 R gon g 2
(A) T TS (B) i TS
©) arfae (D) T TS

Q 38 TR WIR 7Y fHg Tt W AT TR ?
(A) P T (B) Tefar A}
(C) BTat et (D) "t

Q 39 TIeT I8 ST T4 &1 Ut fpg ) freran @ 2

(A) Z0f X (B) RPTS

(C) FgAT (D) A @Y1 B gHf

Q 40 FEfIad & I fra SRS I &) Ihd IR ?
(A) ISRIB 3R fae=h yaer e

(B) SIS UMY

(C) 8Rd wifd

(D) IWIad Tt

Q 31 Fossil fuels are examples of which of the following
types of resources ?

(A) Renewable (B) Flow

(C) Biologjical (D) Non-renewable

Q 32 What is the main reason behind bio-ecological
crises like global warming and environmental pollution
(A) Scarcity of resources

(B) Accumulation of resources in few hands

(C) Indiscriminate exploitation of resources

(D) None of these

Q 33 What is the desired area for forests in our

country?
(A) 16% (B) 20%
(C) 23% (D) 33%

Q 34 Which of the following is the most important
occupation of the people of India ?

(A) Food gathering (B) Agriculture
(C) Manufacturing (D) Services

Q 35 Which of the following is a Kharif crop?
(A) Barley (B) Peas
(C) Bazaar (D) Mustard

Q 36 White Revolution involved improvements in
relation to which of the following products?

(A) Cotton (B) Wheat

(C) Milk (D) Rice

Q 37 How much part of the Earth is covered with water?
(A) Two fourths (B) Three fourths
(©) Two thirds (D) One fourth

Q 38 Sardar Sarovar Dam is built on which river?
(A) Krishna River (B) Narmada River
(C) Kaveri River (D) Mahanadi

Q 39 Tata Iron and Steel Plant gets water from which river?
(A) Subarna Rekha (B) Kharkoi
(C) Yamuna (D) Both A and B.

Q 40 Which of the following have made the fertilizer industry
successful ?

(A) Liberalization and Foreign Direct Investment

(B) Multinational Companies

(C) Green Revolution

(D) All of the above



Q 41 Fofafea & @ o w1 fide & ve Tga ImTis 998

TR ?
() TRigeht vt o1 Rigedt Tger OEISEIEGIEN]
(©) HRdT aftret (D) Tl ST

Q 42 WTeTeR g 1T & N iy e BT AFd § 2
(A TIF ® &g
(O) THTHH (D) 3918

Q 43 YR TIYF P SER Al &) Fidh 7 3
(A) Tgafd (B) IT fae Hed
(D) THTg T¥g

Q 44 TAT gl &R ford faw wR Sififam s &1 SfiaR
frad TR R 2

(A) A I (B) $ad Tg

(©) THY IR Y (D) 379 Y P13 e
Q 45 TR IS A & -

(A) Tu T (B) TS T

(C) FHad! gt (D) T A Bs Tal

Q 46 HRd H TUdlg o1 YurTel! B! forg 32 & Iy I Ugur

farmarg 2
(A) SO (B) 3R
(C) Wi (D) HTST

Q 47 Saex IRTE TSHR St & TR [Hd 3Jwse Pl
YR AU BT T Hgl T AT ?

(A) 3TE 51A (B) 31T 32

(C) 3G 226 (D) 3iTw5¢ 356

Q 48 HRA & D 91 T GG I SARBT H 318l Bt
e pARY I fRUfd a7 2

(A) SITRIOT (B) Gl

(©) I (D) &3

Q 49 PR R AFATe! & A il GHIAT B Gofl T ?
(A) 1988 (B) 1997
(C) 1984 (D) 1998

Q 50 79 A B4 1 AH UIRERS B § YaRia g ?
(A) fdaTg 3R Il (B) TP TGUT
(C) I=ITIHH (D) IR g

Q 41 Which of the following is not a major social group
in Sri Lanka ?

(A) Sinhala speaking or Sinhala community

(B) Sri Lankan Tamils

(©) Indian Tamils (D) Anglo Indians

Q 42 Which religion do most of the Sinhalese speaking
people follow?

(A) Buddhist (B) Hindu

(C) Muslim (D) Christian

Q 43 According to the Indian Constitution, powers
have been assigned to
(A) President
(©) Governor

(B) State Legislature
(D) Union Parliament

Q 44 Who has the right to make an Act on the subject
written in the Concurrent List ?
(A) Only State

(C) State and Union

(B) Only Union
(D) None of these

Q 45 Panchayati Raj subject is -
(A) Union List (B) State List
(C©) Concurrent List (D) None of these

Q 46 The system of federalism in India has been
adopted from the constitution of which country?
(A) Japan (B) America
(C) France (D) Canada

Q 47 According to Dr. Bhimrao Ambedkar, which article
was called the soul of the Indian Constitution

(A) Article 51A (B) Article 32

(C) Article 226 (D) Article 356

Q 48 Which community in India is more or less in the
same situation as the blacks in the United States ?
(A) Brahmin (B) Dalit

(C) Vaishya (D) Kshatriya

Q 49 When was the peace agreement between the
government and the nationalists
(A) 1988 (B) 1997
(C) 1984 (D) 1998

Q 50 Which of the following matters is related to family law ?
(A) Marriage and divorce (B) Adoption
(©) Inheritance (D) All of the above



Q 51 Hag Hel BI Ab T © ?

(A) ToRTd ORERIE
(C) AEO U (D) ST U™

Q 52 BR vare IRRET {5y arg 47 ¥ Seifta @ 2
(A) g@TaS B) AR
(C) aEaT (D) I

Q 53 YRd # WP Rl iy forw fafd & s S & 2
(A 8 T (B) 1 eg
(@ERERCN ©) 1 fegsR

Q 54 TUTer § UTE 9 aTelt T S e I g ?
(A) TRI (B) @t
(C) Srifcan (D) IR it

Q 55 STaex HITRTa SASHR SRRIPIT aTs 3731 Hei 8 ?

(A) TRTOT (B) TS

(C) BeRTaTE (D) TR

Q 56 9§ A1 A <l fobdpe A Gl g 2

(A) feciia gt (B) XUTSR 2B
(C) faor IR It (D) =78 T guft

Q 57 FE B ¥ 5 Tde &1 Yey YRdAea iR Fiage!
NI ?

(A) T ARTHTS
(C) Tt Fomfet

(B) Sfoft &t
(D) STH Y PIs Ta1

Q 58 9 H T oI At uRaSHT o T R T 8 ?

(A) RIS (B) HIGST AT
(C) AR (D) 3

Q 59 SR TP e FEi 7 ?
(A) TfEH ST (B) IRWS
(C) TR (D) PAlchd

Q 60 9 & q S I IRATY YT STRUST A ?
(A) (A) TRTR (B) &
(C) PIDHRIURT (D) RRT

Q 51 Bhavai is the folk dance of ?
(A) Gujarat (B) Rajasthan
(C) Madhya Pradesh (D) Uttar Pradesh

Q 52 Hari Prasad Chaurasia is related to which musical
instrument ?

(A) Pakhawaj (B) Sitar (C) Tabla (D) Flute

Q 53 On which date is National Medical Day celebrated
in India ?

(A) 8 March (B) 1 July

(C) 5 December (C) 1 December

Q 54 Which is the main tribe found in Meghalaya ?
(A) Garo (B) Khasi
(©) Jaintia (D) All of the above

Q 55 Where is Dr. Bhimrao Ambedkar International
Airport

(A) Varanasi
(C) Hyderabad

(B) Lucknow
(D) Nagpur

Q 56 Which of the following trophies is related to
cricket ?

(A) Duleep Trophy

(C) Vijay Hazare Trophy

(B) Ranji Trophy
(D) All of these

Q 57 Which of the following dancers is related to both
Bharatnatyam and Kuchipuni
(A) Mrinalini Sarabhai

(C) Yamini Krishnamurthy

(B) Rukmini Devi
(D) None of these

Q 58 Which of the following projects is situated on
Sutlej river ?

(A) Hirakund (B) Bhakra Nangal

(C) Mettur (D) Almati

Q 59 Where is Bandipur National Park ?
(A) West Bengal (B) Jharkhand
(C) Gujarat (D) Karnataka

Q 60 Which of the following nuclear plants is in Uttar
Pradesh

(A) Tarapur (B) Kaiga

(C) Kakrapara (D) Narora



Q61 3891 YT VA Fel g AT & ?
(A) ToRTA (B) TTaT
(C) SIS (D) HERTY

Q 62 ST fpbe aes BY 2023 BT fGAI ST HH T ?
(A) HRd (B) 3frefera
(C) I&ror 3TpihT

Q 63 BTd 81 | fobape o diiHl tivic H <IU TR UgH aret fsbebe

e & Ugd Ngalel dHa g 2

(A) e diee (B) STl THRTE

(C) PALI Tred (D) 319 9 IS T8

Q 64 BA 8 ¥ 5 PR 7 Y YR 3@ T THIfd B B
A B R ?

(A) Gt &t R I (B) e =R Rig

(C) TH.TH. WA (D) SR Taft

Q 65 AEIRA S TSR DTG ?

(A) T dRA ¥ (B) HITOeh TR

(OXSISFHEI (D) IRy Ry

Q 66 5T 3 P! fhy Ve T hAdYde Faiftd farar
g ?

(A) LVM3-M1
(C) LVM3-M3

(B) LVM3-M2
(D) LVM3-M4

Q 67 27 d TSI gaTl HEIcHd b1 IGUIc Hgi a1 T 2

(A) a1 (B) HBRTY
(C) P (D) oI

Q 68 HRd PT Ugel dfed UTH UId dg o' HT IguTe Hgi

g ?

(A) IR UCT (B) AL USRI

(C) ORI (D) R

Q 69 HRd & UgA TR WeX HI IgUIe Hgi gaN g ?
(A) TRy (B) gt

(C) aRTURT (D) TeAT

Q 70 BTd & & 71 & 35T fhua sfigia gerd: 30+ fod 7
F T PR & fRY A aHeEe © ?

(A T v & forg

(B) FId PfY 77 & ferw

(C) Hed Seeb o o

(D) | T g MSP &1 TRCT

Q 61 Where is the 38th National Games going to be held ?
(A) Gujarat (B) Goa
(C) Uttarakhand (D) Maharashtra

Q 62 Who is the winning country of ICC Cricket World Cup
20237

(A) India (B) Australia

(C) South Africa (D) West Indies

Q 63 Who has become the first cricketer in history to reach
the top in all three formats of cricket recently?

(A) Trent Boult (B) Jasprit Bumrah

(C) Kuldeep Yadav (D) None of these

Q 64 Recently, whom has the Central Government
announced to be honored with Bharat Ratna ?

(A) PV.Narasimha Rao (B) Chaudhary Charan Singh
(C) M.S. Swaminathan (D) All of the above

Q 65 Who has become the new Chief Minister of Mizoram ?
(A) N Viren Singh (B) Manik Saha
(C) Lalduhoma (D) Nephew Rio

Q 66 Chandrayaan 3 has been successfully launched with
which rocket ?
(A) LVM3-M1
(C) LVM3-M3

(B) LVM3-M2
(D) LVM3-M4

Q 67 Where was the 27th National Youth Festival inaugurated
(A) Goa (B) Maharashtra
(C) Kerala (D) Gujarat

Q 68 Where is India's first Vedic theme park 'Veda Van’
inaugurated?

(A) Uttar Pradesh
(C) Gujarat

(B) Madhya Pradesh
(D) Haryana

Q 69 Where was India's first solar city inaugurated?

(A) Nashik (B) Sanchi
(C) Varanasi (D) Patna

Q 70 The farmer movement which was in discussion recently
is mainly mobilizing against the government for which of its
demands ?

(A) For farmer allowance

(B) For free agricultural equipment

(C) For free fertilizer

(D) Minimum Support Price MSP Guarantee



Q71 A B &HAT BT S | AED Bl &

(A) ST 3ER (B) WA
(C) WH (D) URIH

Q 72 <t 3T Y BT BlpgrR 50 FelHiex & df It
&y gt ?

(A) +5D (B) -5D

(© -2D (D) +2D

Q73fald A us Sl T @ ?

(A) 3x 108 Hiex/Ads (B) 3x10° fb/Adhs
(©) A 3R BEH (D) STH A P15 e
Q74 U A Y o 3refaras T8 g ?

(A) Tferep T (B) SHHfTH

(C) URT (D) 3H A PIs Aol

Q 75 TS 3fHIeR & T TR 0 TUT 2A F &5 20 HFT § 3BT
feudHis &

(A) 0.1A (8) 0.01A

(C) 0.2A (D) 0.02A

Q76 3¢ A fHI YR A URT U g g ?
(A) AC (8) DC
(C) AC 3R DC 2 (D) T7H q PIs el

Q 77 fagya giex &t e A fruem! uanT foar orar 82

(A) TTSHIH (B) €T

(C) o (D) ST

Q 78 FufeiEa & @ o fg e e g2

(A) HCL (B) H3Po4

(C) HNO3 (D) H2S04

Q 79 Fufifad & 4 &9 91 urey g &

(A) SgfeH (B) UTORTfRIA
O QE.J\_’H (D) WS CARIEE!

Q 80 fERiPR 1Y B HeRawy I0d UIelf BT BIHIeiiD
ST T ?

(A) 3:1 (B) 9:3:3:1
© 11 (D) 1:2:1

Q 71 S | unit of power of lens is
(A) Diopter (B) Lumen
(C) Angstrom (D) Parsec.

Q 72 If the focal length of a convex lens is 50 cm, then
its power will be ?
(A) 5D (B) -5D (C) -2D (D) 2D

Q 73 The speed of light in vacuum is
(A) 3x10® m/second (B) 3x10° km/second
(C) Both A and B (D) None of these

Q 74 Which of the following is not a semiconductor
(A) Silicon (B) Germanium
(C) Mercury (D) None of these

Q 75 There are 20 divisions between 0 and 2A on the
scale of an ammeter. Its least count is
(A) 0.1A (B) 0.01A
(©) 0.2A (D) 0.02A.

Q 76 How is current obtained from the battery ?
(A) AC (B) DC
(C) Both AC and DC (D) None of these

Q 77 What is used in the coil of electric heater ?
(A) Nichrome (B) Tungsten
(C) Copper (D) Zinc

Q 78 Which of the following is a di alkaline acid
(A) HCL (B) H3Po4
(C) HNO3 (D) H2S0O4

Q 79 Which of the following plant hormones is
(A) Insulin (B) Thyroxine
(C) Estrogen (D) Cytokinin

Q 80 The phenotopic ratio of the plants produced as a
result of Dwishankar cross was ?

(A) 3:1 (B) 9:3:3:1
© 1:1 (D) 1:2:1



Q 81 85:42::139: ?
(A) 68 (B) 69
© 70 (D) 61

Q82-DMP:FOR:: FBU:?
(A) GHV (B) EDM
(C) HDW (D)3 ¥ PIS o

Q83 3-P3R Q USB IR YHIUaTIe, T, S Bl g gl
S, XPTHMIZI T FTRARTIGY B ?

(A) TTaT (B) Ul

(C)ae (D) HIS

Q84 TE+=x,-=+, x = +, + = -, dfGREa
F Y H I TR I

(A) 18-6x7+2+8=63
B18+6+4-2+3=22
(Q 18+6-4x2+3=26
D)18 x6-4+7 x8=47

Q85 uR8*9#3=51aU12*6#4 =728
13*11#6 =72
(A) 156 (B) 128 (© 136 (D) 144

Q86 fau Ty fawed & § faww weg gfAT -
(A) 3BT (B) T
(C) STt (D) StSrTfoTd

Q87 B A U WIF I Il Y& bl 98 3 forth SR
3R =@ R gd T 3R GShr 4 et gar fohr a8 ufdm &t
3R gEaR 2 foret g 3R 98 SR ot 3R S 3 FHt
TG S T Tgell 30 URMNS e A fpg fezn A g 2

» gd (B) &ferr

Q) I (D) ufgH

Q 88 15 3T 2013 P! TTE BT DI IT fgT U1 ?

(A) TeaR (8) HIFAR

(C) gYdRrR (D) HITAR

Q 89 3HeRY HT DI T T Well VM TR HHAR W R &
TE 3&R 4G DI R BT ?

cc_b c_ba_ab

(A) ccac (B) cbaa

(C) aabb (D) cdab

Q90 Tfe HORN @Y 54 ferRaT STaT 8 9UT RHYM &1 63 ferar
SAIE | 39 IS U H PURE &1 fhg UepR ferar smemm
(A) 60 (B) 59

(C) 58 (D) 61

Q8185:42::133:7
(A) 68 (B) 64
Q70 (D) 67

Q82-DMP:FOR::FBU:?
(A) GHV (B) EDM
(C) HDW (D) None of these

Q 83 3- P and Q are brothers. R is father of Y, T is sister
of S. S is the maternal uncle of How is T related to R?
(A) Mother (B) Sister

(C) Sister (D) Brother

Q84lf+=x, -=+, x = +, + = - then which of
the following equations is correct?

(A 18-6x7+2+8=63
B)18+6+4-2+3=22

(CQ 18+6-4x2+3=26

(D)18 x6-4+7 x 8 =47

Q851f8*9#3=51and 12*6#4 =72 then 13 *
1M#6=7
(A) 156 (B)128 () 136 (D) 144

Q 86 Choose the odd word from the given options -
(A) Arithmetic (B) Mathematics
(C) Geometry (D) Algebra

Q 87 Raheja started from a place, he walked 3 km
north, then turned east and walked 4 km, then turned
west and walked 2 km, turned south and stopped after
walking 3 km. Raheja walked 3 km from his starting
point. In which direction?

(A) East (B) South

(©) North (D) West

Q 88 Which day of the week was August 15, 2013?
(A) Thursday (B) Monday
(C) Wednesday (D) Tuesday

Q 89 Which group of letters when placed sequentially
in the blank space will complete the given letter series?
cc_b_c_ba__ab

(A) ccac (B) cbaa (C) aabb (D) cdab

Q 90 If HORN is written as 54 and RHYM is written as
63. Then how will PURE be written in this code
language

(A) 60 (B) 59 () 58 (D) 61



Q91 1400 7 2 &7 fYpaH U @ -
A) 2 (B) 3

Q5 (D) STH A P15 e

Q92 fEurd 9gue 4x2 + 4r + 1 % YLAD! BT TNT G -
(A) -1/4 (B) 1
o -1 (D) 1/4

Q93 H'FﬁWUTa(b-c)x2+(bc-a)x+c(a-b)=OWH§T%-
AMa+b+c B)Yb + ¢
(C) ab D) 1

Q94 9uft21,18, 15, ... 1 B 1 UG I I ?
(A) 9aT (B) 12at
(C) &at (D) 5ai

Q95 3fE QN THFY AIYS & &Fhd BT 34U 16: 9 g all

D! T YIS BT SFUT T BT ?
A) 2:3 (B)3:4
) 4:3 (D)9: 16

Q 96 fdg A8, 10) TUT B(4, 6) ! He aTch 3@ HI A foig
FI w3 -

(A 6,8 (B)8 6

€4, 8 (D) 8, 4

Q 97 c0s48° - sin42° SRR @ -
A 1 (B) 2
Q@ -1 (D) 0

Q98 U HHR ¥ 100 Hier gR f¥yd fdg R HHR &1 37997
P 60° A HTR P SR B :
(A) 100V3 Hlo
(C) 50V3 Hlo

(B) 100/43%10
(D) TH I DTS T

Q 99 TP ST BT HIS 3R AT 12K 3R 15K § ST Bl HIAD
g7

(A) 12K (B) 14K

(©) 15K (D) 16K

Q100 ufe fFf gt A B URBar0.3 g, @A & R Bt
TG R R ?

(A)O.3 (B) 0.7
(€ 1.3 (D) SWRIad H ¥ HIs el

Q 91 The highest power of 2 in 1400 is —
(A) 2 B)3
(@R (D) None of these

Q 92 The sum of zeroes of the quadratic polynomial
4x2 4r 1 will be -
(A) -1/4 (B) 1 (© -1 (D) 1/4

Q 93 The root of the equation a(b - ¢)x2 (bc - a)x c (a -
b)=0is -

(A)abc (B)bc (C) ab (D) 1
Q 94 Which term of series 21, 18, 15, ........... will be zero?
(A) 9th (B) 12th (C) 8th (D) 5th

Q 95 If the ratio of the areas of two similar triangles is
16: 9, then what will be the ratio of their corresponding
sides?

(A)2:3 (B)3:4 G 4:3 (D)9:16

Q 96 The locus of the midpoint of the line joining the
points A(8, 10) and B(4, 6) is -

(A)6, 8 (B) 8, 6

Q) 4,8 (D) 8, 4

Q 97 cos48° - sin42° is equal to —
(A) 1 (B)2 @ -1 (D)o

Q 98 At a point 100 m away from a tower, the angle of
elevation of the tower is 60°, then the height of the
tower is:
(A) 100V3 m
(C)50¥3 m

(B) 100/3 m
(D) None of these

Q 99 The mode and mean of a data are 12K and 15K,
the median of the data is? (

A) 12K (B) 14K

(©) 15K (D) 16K

Q 100 If the probability of an event A is 0.3, then what is
the probability of the complement of A?

(A) 0.3 (B) 0.7

13 (D) None of the above






